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Answers

1. 31

2. 48

3. 43

4. 15

5. 49

6. 22

7. 28

Solve each problem using a tape diagram.

1) Paul has $52. He decides to spend $21 on new video game. How much money would he
have left?

52

21 ?

2) Paige listened to 65 songs on her mp3 player. 17 of them were pop and the rest were
classical. How many classical songs did she listen to?

65

17 ?

3) Rachel could send 54 text messages a day. If she sent 11, how many text messages does
she have left she can send?

54

11 ?

4) Carol had 53 pieces of candy. 38 pieces are chocolate and the rest are sugary. How many
pieces of candy does Carol have that are sugary?

53

38 ?

5) Sarah's hair was 69 centimeters long. If she cut off 20 centimeters, how long is her hair
now?

69

20 ?

6) While playing a game Luke had 40 lives. He lost 18 lives on a hard level. How many lives
does he have left?

40

18 ?

7) Frank had 61 cherries. He ate 33 of them. How many cherries does Frank have left?

61

33 ?
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